MTEE RELMBEBLAXFREEREFEXRBE TN RAEXHRT

£ i Tk B | #E B & %
REXEKE = 1.0 15,286,000 | 15,286,000 |[AER*Z 12
HERRUKAEHERBELE % 10.0 1,528,600
& ;i 16,814,600

BEMBERAEAE SM7E48118
SHEREABR SWM7E48118
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MRE1S

I# B & I T #% - <+ & B | #HE B i ® & & &
REES
EEREE 6,719,691
1 B R K 1.0 439,700 439,700 |NERF*&25F
2 | EEHEEFRE K 1.0 4,940,018 | 4,940,018 [NERE3E
3 | #EmEiftis =K 1.0 778,688 778,688 [NER* 45
5 | thEE-#mE = 1.0 475,285 475,285 |NERF*E6E
6 | EBHRES K 1.0 86,000 86,000 [NERF7 5
MEE 4,636,309
| | AEHEER = 1.0 4,636,300 | 4,636,309 |FERHOMIEER x69.0%
FEREE 11,356,000
RETEH
EERE 1,660,700
4 | BIF-EE = 1.0 1,660,700 | 1,660,700 |NiR&K5S
Mg 2,269,300
- |  ZDithEL = 1.0 894,286 | AT~ FHH x 05385 LUK
-0 | —BREEBEZL = 1.0 1,375,014 | FHRIA-EomREm xossis M
EXEtEFEE 3,930,000
a&t 15,286,000
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NERE25

IE B T #% - 5 & B | #HE B i & & 5 &
1 |FRE#ERE
1-@ | AEERE =% 1.0 299,566 299,566 |FAEHHR1S
1-Q | A E K 1.0 140,134 140,134 |FAEHfiF 25
= i 439,700
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NERE3E

15 H % 5 R SR -~ B | #E B & %8 s =
2 [EBELEEFHRE
-0 | RREEFHREE) @] 2.0 524,287 | 1048574 |FABEH RIS
2-Q | RAMEFHRE(X) @] 2.0 524,287 | 1048574 |FABHERIE
2-Q | HARREE (F) B 21.0 65,535 | 1,376,235 |FAEH{fiR4 S
2-@ | HHRAEE(X) H 21.0 65,535 | 1,376,235 [SAEHik4S
2-6) |/KEOH— = 8.0 11,300 90,400 (Effi(x RiE
& i 4,940,018
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NERE4S

E B i} it #% - o & By | #& B ff & & E %
3 |HEEftia

3-D |REF /Y oy 8.0 48,563 388,504 |FAEHHERSH
3-@ |iE% H 8.0 48,773| 390,184 |FAE Hiffik65

op

778,688
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NERES5S

IE B I} it #% - & & HEfi | #E B i & %8 5 &
4 |fEHT-ER

EEANEEE 1,660,700
FEHREm AH 5.0 66,900 334,500

FR A (A) AR 6.0 59,600 357,600

£ A (B) AB | 100 48,500 485,000

Fe A (C) AH 12.0 40,300 483,600

8 & 1,660,700
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NERE65

IE B it #% - & & HEfi | #E B i & %8 5 &
ek - IR TE&E[E %56
EEANEEE 437,500

FEHREm AH 2.5 66,900 167,250

FR A (A) AR 2.5 59,600 149,000

£ A (B) AHB 2.5 48,500 121,250

EEEEE 37,785
Hil# 54 k7322,000cc &8 5.0 6,616 33,080
HMHES % 1.0 470,580 4,705
8 & 475,285
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NERK75

% i T %k - T & B e H @ &+ % s &
EX I EIT
EEREE 86,000
== 1] =) s {E&iﬁ“-;%fﬂ;@$ = )}
== S 1.0% I| S A ER S % 0.3%
EBBRERE SUAR1AR, EF I = 1.0 86,000 86,000 |} o b ok, oI FoIyRT
a s 86,000
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REHEMER1S

1H H T % - f & ==X v] = B & % g &
1-O |REEE

EEAGEET 296,600
2 F B R AH 1.0 60,600 60,600
BI=HEm AH 3.0 52,300 156,900
B = FEhE AH 1.5 41,100 61,650
BISBF AH 0.5 34,900 17,450
EEREE 2,966
MM % 1.0 296,600 2,966
& i = 1.0 299,566
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REHMER2S

H B T % - f & B4 | #WE B il > %8 g =
1-Q | B4 E MR
BEEAGEE 57,400
BEEEE AH 2.0 28,700 57,400
EEREE 82,734
HElmE cowo2tiE &H 25 32,539 81,347 |ElE (2) BA#A
A % 1.0 138,747 1,387
& i = 1.0 140,134
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FEHMERIS

IE B & T #% - 5 & B | #HE B i & & 5 &
-DR\RAKERE
EEAEEE 380,800
B & 2 B AH 1.0 52,300 52,300
i & $% Bifi ¥ AH 1.0 41,100 41,100
KL (1omLLE20mK i) AR 2.0 57,700 115,400
BAKETHBIA (10mEL_E20mEK ) AH 2.0 57,700 115,400
HEYyg AH 2.0 28,300 56,600
EEEEE 143,487
HlE 54 k732,000cc = 2.0 6,616 13,232 |EE & (1) BAHA
fia e 2 FAEM (FRP_D 70PSHY) £8 1.0 85,189 85,189 | fn it & BA 4
GNSSHifi % DGNSS &H 1.0 15,600 15,600 [0 HERSORAAE
KepAAS & H 1.0 1,500 1,500 |R#&
KepETH = 1.0 3,000 3,000 | R
Fikiid ed % 5.0 499,321 24,966
a = 1.0 524,287
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REHMERAS

IE B & ¥ T #% - 5 & B | #HE B i & & 5 &
2-QA|ERRAEE
EEAEEE 380,800
B & 2 B AH 1.0 52,300 52,300
i & $% Bifi ¥ AH 1.0 41,100 41,100
KL (1omLLE20mK i) AR 2.0 57,700 115,400
BAKETHBIA (10mEL_E20mEK ) AH 2.0 57,700 115,400
HEYyg AH 2.0 28,300 56,600
EEEEE 143,487
HlE 54 k732,000cc = 2.0 6,616 13,232 |EE & (1) BAHA
fia e 2 FAEM (FRP_D 70PSHY) £8 1.0 85,189 85,189 | fn it & BA 4
GNSSHIfI &£ E DGNSS &H 1.0 15,600 15,600 [0 HERSORAAE
KepAAS & H 1.0 1,500 1,500 |R#&
KepETH = 1.0 3,000 3,000 | R
Fikiid ed % 5.0 499,321 24,966
=YD H 8.0 524,287
1EHEY 65,535
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HEEMKRSS

IZE B B ft % - & & B | HE B {f = % 5 &
3-@ [RART VYT
EEANMEE 237,100
B & 2 B AH 1.0 52,300 52,300
| S FR A # AH 1.0 41,100 41,100
BKE (10mLLE20mK ) AH 1.0 57,700 57,700
BAKEHBIA (10mEL _E20mEK i) AH 1.0 57,700 57,700
HEya AH 1.0 28,300 28,300
EEEEE 151,405
HlE 54 k7322,000cc £8 | 1.00 6,616 6,616 |H il (1) B
fia e 2 FAEM (FRP_D 70PSHY) €8] 1.00 85,189 85,189 | fn it & BA 4
GNSSHIfZEE DGNSS £H | 1.00 15,600 15,600 [~ 0 AR SORRAE
KephAS &H 1.00 1,500 1,500 |Ri&
G IAYY 1& 8.0 3,000 24,000 |R &
Fikiid ed % 5.0 370,005 18,500
1AHY = 8.0 388,505
1EHEY 48,563
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HEHMERCS

IE _H £ FR it ¥ - <t & Hit | #E B i & %8 & &
3-@ |HEH
EEAEES 237,100
B & B AH 1.0 52,300 52,300
3B £+ Bifi 478 AH 1.0 41,100 41,100
K (10mEL E20mK i) AH 1.0 57,700 57,700
K 4B E (10m Ll _E20mk i) AH 1.0 57,700 57,700
LrEYa AH 1.0 28,300 28,300
EEEEE 153,085
Bk m 128 200 25,600| & FIKAREZERY
BHRE 54 k73,2,000cc =1z 1.0 6,616 6,616 |EE I (1) BAHA
fta e 2 &M (FRP_D 70PSHE!) £H 1.0 85,189 85,189 | fnfiA 2 BA A
GNSSHIfT & E DGNSS &H 1.0 15,600 15,600~ e RS ORRAE
KepAAS == 1.0 1,500 1,500| R &5
HHEESF % 5.0 371,605 18,580
1A = 8.0 390,185
1R 48,773
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HilE (1)

IH _H £ ¥R T % - T & Hit | #H=E B i ) & &
BHl#Z (54 k/322,000cc)
PANAYS LR s 2,000cc B ] 2.0 287 574 |5 - REREORREE
ANV HREN 2,000cc =| 1.19 1,580 1,880 L TUBRBASORRRE
BE VYY) BEgERALX15— |9 7.0 174 1,218
R RS FEE~RLFRES FiE 2.0 1,472 2,944
a8 6,616
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HilE (2)8H

B

e R B | 8 | & 5 =
BHlE(+SYY)
— BT AH 25,400
FSuyBEEE R T B 273 e URRRRTORREE
Sy ot RIEE % 0 2,730 R SUBBERSORERE
pA (BEi) EREN i 154

& i
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fiafia 2 B3

1 B £ 1 T % - F & =X ivs = B M & %8 g &

W E (FRP D 70PSHY) FAEMm CA=M, 8Am)

SiRmE AH 1.2 34,600 41520 |t FR{%%k1.2

N = 1o MR LUVHHREEDEHETE

KA EEnia g FRP D 70PSE! = 10 3,210 3.210 |z -

PN = MBS LUMBBEZDIBHERE

3B REY FRP D 70PSE! H 165 3,360 5544 |5 fmmaes

RE (FERA) a—!)— 3 440 102.5 4510

RiSEEE = 1.0 13,504 13,504 |IR 15 & 18 & 3224 65%

— i EEE = 1.0 16,901 16,901 |— RS IBE L 324.75%
= 85,189
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